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10.

11.

Panchayati Raj System was first adopted by the State
(a) Uttar Pradesh (b) Gujarat (c) Rajasthan (d) Goa

The occurrence of urban settlement in places separated from denser area by open space and
land under agricultural production is called

(a) Green Belt (b) Urban sprawl

(c) Hinterland (d) Leap frog development
‘Theory of Rent’ is proposed by

(a) Christopher Walter (b) David Ricardo

(c) William Alonso (d) Wilhelm Launhardt

A model housing project initiated by Govt. of India in 2021 with approximate 1000 houses
built with shortlisted alternate technology is known as

(a) Light house project (b) Self help housing project
(c) Affordable housing project (d) Mass housing project

Which scheme aims at making the cities ‘water secure’ and providing functional water tap
connections to all households ?

(a) AMRUT (b) Smart Cities Mission
(c) INNURM (d) AMRUT 2.0

RERA Act was enacted in year .
(a) 2016 (b) 2017 (c) 2018 (d) 2019

What amount of central assistance is provided for construction of new houses or for
enhancement of existing houses under PMAY-U ?

(a) T 1.50lakhs (b) 2.0 lakhs (c) T 2.5]lakhs (d) % 1.0 lakh

What is the target number of houses to be constructed by the year 2023-2024 to achieve the
objective of “Housing for All” under PMAY-G ?

(a) 2.95 crores (b) 1.0 crore (c) 1.25 crores (d) 3.0 crores
Which of the following agencies don’t provide loan for housing ?

(a) LIC (b) HUDCO (c) Commercial Banks (d) RERA
HUDCO aims at providing

(a) Urban Development

(b) Low-cost Sanitation

(c) Loan Finance for Housing and Urban Development
(d) Rural Development and Agriculture

Which among the following focuses on ease of living for urban migrants / poor in industrial
sector ?

(a) Affordable Rental Housing Complexes (ARHC)
(b) Global Housing Technology Challenge — India
(c) Affordable Housing in Partnership

(d) None of these
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1. TS US ARl ! God Ugl fohd TS I 3TY-TET 71T T 7
(a) ST I (b) TSR (c) TSTEIA (d) e
2. PN IATE & G Gol TIM R Y g T9F &l | 37e Fohu e worHi 8 wigdl sEmee 6
T[T Sl T HET T 2 ?
(a) - (b) el feream (c) FAHTAH  (d) T HI o
3. fruu e fagra o g TEATfad 2 |
(a) TFeiwtaear (b) Sfee ferel (c) Toferm st (d) faeen atere
4. YA GEHR RT 2021 H Y& 6 T8 T Aiget g ufensn fmw siiéferee dehieus qeaie
o T ST 1000 T S TCE | §Feh! ST ST & —
(a) T3 B3 Wiolee (b) HH-TeU BT Tiee
(c) UHISHT BISRAT Ui (d) HTE BRI Tiee
5. e A W foRe ST ST 3gev WIEKl Sl et Giara’ S am aft Bl § ShRieie e STt shiieeH
TGH BT B ?
(a) A (TTH SIRYE) (b) TaTe ferdt forem
(c) STTTTIITRTH (d) 3194 2.0
6. W u form o srfufrafia gam ?
(a) 2016 (b) 2017 (©) 2018 () 2019
7. HTHTER-Y (PMAY-U) % d&d 73 51 < FHuior =1 Hiset =1 o Ta¢q ()  fore forat shefi
eIl Y& 1 STt & ?
(1) 315  (b) 2.0 (¢) T2.5Ta ) % 1.0 @M@
8. HuHTATE-S (PMAY-G) & dgd “Tufl & foTu e’ & 3299 1 ITed i o 7w a9 2023-
2024 Teh SR S dTel Bl <hl ferd G@AT 1 R 7
(a) 2.95 e (b) 1.0 S (c) 1.250e (d) 3.0 s
9. frafaRaa o @ w =i v e % I o1 Yo T Hd R 7
(a) TSR (b) TEHI (c) TS Sk (d) W
10. TSI 1 AT FI1 TGH AT § ?
(a) &l foeprd (b) T AT dTeA! T
(c) 3TaH U & o sk fu o fad (d) amior foreemer STR W
11. Tr=faRea @ =F @, stenfies & 1 el yarte=i /e & fore sfas @ 3 e wsfga
8 7
(a) TeRmTIC AT % TE™ IRER (ARHC) (b) SfYaeh STamd Srenfieh! gHidl-wra
(c) HTEIET H ferwrrdt e (d) T8 B B Tl
o N ; TG



12. The Gross Density of a city is defined as the average density of
(a) Population per unit area of the residential zone
(b) Population per unit area of neighbourhood
(c) Population per unit house
(d) Population per unit area of commercial zone

13. In real estate the method of accounting for depreciation in immovable properties is known

as
(a) Rental Capitalisation Method (b) Delapid Action Method
(¢) Years Purchase Method (d) Sinking Fund Method

14. Consider the following statements :
I.  Fully owned Government Company under Companies Act 1956.
II. Leading Financial Institution, financing Housing and Urban Development Projects in

the Country.
Above statements are true for which of the followings ?
(a) HDFC (b) HUDCO (c) LIC (d) PNB

15. Kartavya Path was inaugurated on 8 September 2022 under which important project ?
(a) Real Estate Regulation Development Act
(b) Heritage City development and Augmented Yojana
(¢) PM Svanidhi
(d) Central Vista Redevelopment Project

16. Which Housing Scheme promotes women empowerment by providing ownership of houses
in the name of female member or in joint name ?

(a) PMAY-G (b) AHP
(c) PMAY-U (d) National Urban Housing and Habitat Policy

17. What is the ratio of three installments to be released from central funds as per Affordable
Housing in Partnership Scheme, in India ?

(a) 40:20:40 (b) 50:40:10 (c) 60:40:00 (d) 40:40:20

18. The total carpet area after enhancement under beneficiary led individual house construction
or enhancement under PMAY-U is

(a) 21sq.mto30sq. m (b) 28sq. mto 35sq. m
(c) 25sq. mto35sq. m (d) 30sq. mto40sq. m
19. State of Uttarakhand lies in zones of earthquake hazards in India.
(a) IIand I (b) IVand V (c) land V (d) Il and IV

20. Which is the apex body in GOI, responsible for laying down policies, plans and guidelines
for Disaster Management and Co-ordinating their enforcement for ensuring timely and
effective response to disaster ?

(a) NEC (b) NDRF (c) NDMA (d) NIDM
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12. Torelt STEX 61 Tehet B (Ui SfRA) forareh 37T wc o w9 1 uitiyd A fhe Stran 7 ¢
(a) STETE & 1 Ul 3hTS & TG (b) Ygoo! shl U SohTS & SHEE
(c) Tl 3hTS T SHEEAT (d) arfuTfses & 6t Ui 318 SEEn
13. T STEIETEl | 3Teel AUl & JoasTd o foTt si@men sl faftr 61 e et mar g 2
(a) {© Hiycargsrm fafer (b) Eife waE fafe
(c) 38 uas fafer (d) Tafe wue fafy
14. Treforiad wuai w fomm =t -
(1) ot 3ttt 1956 % qad ot Tafiee areft TRehrt o)
(2) 3oft foie Tem, <9 ® e 3R & fasm afEsmstt o1 famamo
39U e fordes feru AT 2 2
(a) TAETHH. (b)) TEhI (c) T3S, (d) dr.w.
15. Tore wEwaqul A1SHT 3 d8d 8 AR, 2022 %1 Shaed U 1 IgHTe 53T ?
(a) Torer we fafremm o faem srfafem (b)) Tt e foeemr 3 wafea aemn
(c) g @ity (d) Aeeet ferear qAfderma qieem
16. M T A AT Al T o AW W IT G A0 9L B HT WTHE TGH hich Higal
GTferTeRTuT =l SIGTaT ¢t 8 7
(a) diuAuaTE-Sft (PMAY-G) (b) TT=dt (AHP)
(c) fUATETE-F (PMAY-U) (d) Tsdr SrEdt STTETE 3R e Hfifa
17. 9RA H TRhRd ST ARt ASHT 6 FTER o i & I &6 ST areft @ freat @1
JAAFTE ?
(a) 40:20:40 (b) 50:40:10 (c) 60:40:00 (d) 40:40:20
18.  ameff amenia xfaara samE fmior a1 feauai - (PMAY-U) & T&d 9fg o 918 $ol e
SERIGIE]
(a) 21 a7 e | 30 a1 HieX
(b) 28 T WX 35 af T
(c) 25 M H 35 i T
(d) 30 = T | 40 91 HieX
19. STEE TS WA § o o Gl S A e g |
(a) 11 3R III (b) IV IRV (c) L3RV (d) 13RIV
20. WRd SIhR 1 i 91 Y e B, S 31m9er yeiee o forw fifemit, et 3R feen-fdst =&t
Terifia e 37 31maer o fore wmer o werelt whafsren giafeaa e % fore, 3o yada 1 ame
&t o forg R 8 72
(a) T (b) TIMTE. () WIWEL @ W
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21.

22.

23.

24.

25.

26.

27.

28.

Which of the following gas has highest Global Warming Potential ?
(a) Methane (fossil) (b) Methane (Non-fossil)
(c) Carbon dioxide (d) Nitrous oxide

Sustainable Development Goals and targets are to be achieved by

(a) 2025 (b) 2030 (c) 2035 (d) 2040
Match between Rating System and their rating scale :
Rating System Rating Scale
P. GRIHA 1. GEM
Q. BEE 2. Platinum, Gold & Silver
R. IGBC 3. kWh
S.  ASSOCHAM 4. STAR (*)
Codes :
P Q R S
(a) 4 3 2 1
(b)y 4 2 1 4
(c) 3 2 2 1
(d 4 4 2 1
When did EIA (Environmental Impact Assessment) started in India ?
(a) 1976 -77 (b) 1979 —80 (c) 1981-82 (d) 1974-75

The provisions of ECBC code applies to :

P — Building envelope

Q — Mechanical systems and equipment including HVAC service, hot water
R — Interior and exterior lighting

S — Electrical power & motors and renewable energy systems

(a) P,QR (b) P,Q (¢) P,Q,S (d) P,QR,S
Which of the following is NOT a method of handling e-waste ?
(a) Landfilling (b) Incineration (c) Recycling (d) Composting

In SDG (Sustainable Development Goals), Goal no. 6 is related to

(a) Gender Equality (b) Quality Education

(¢) Good Health and Well - Being (d) Clean Water and Sanitation
“Rotational Failure’ is associated with

(a) Earthquake (b) Landslides (c) Hurricanes (d) Tornado
The National Action Plan on Climate Change (NAPCC) was released on

(a) 15 June 2007 (b) 1% January 2010 (c) 30" June 2008  (d) 14™ July 2005
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21. fTfaRad 9 & M w19 1 qEueey I fave I=ar 8 ?

(a) THom (wife) (b) T (17 witder)
(c) HEH-SEHATFTES (d) TT3eH AETSS
22. Haq foeRm et Ud 3¢l I fohd TTet deh U fohan ST © 7
(a) 2025 (b) 2030 (c) 2035 (d) 2040
23. T yumredt 37 3k e 99M < o= firem o -
e gurredt e Jur
P. GRIHA 1. GEM
Q. BEE 2. wifem, Meg ey et
R. IGBC 3. kWh
S. ASSOCHAM 4. STAR (%)
%:
P Q R S
@ 4 3 2 1
b 4 2 1 4
© 3 2 2 1
d 4 4 2 1
24. R ¥ EIA (TG0 Y919 3ATehei) el I[E 53Tl 7
(a) 1976-77 (b) 1979-80 (c) 1981-82 (d) 1974-75

25. 3.4 HIs B IEYH AL BT 7
P — SHIA b1 3HTEIT
Q — Ttk JuTTet TR Iuehtyr foem €ifdm, dfeciem, st afdw, m art wfrer 2 |
R — 3k 3TN el TehTr sqae
S — forga St way HreR 3R TRl et yomeft

(@) P,QR (b) P,Q (¢) P,Q,S (d) P,Q,R,S
26. Tr=feiRaa o & S a1 alehT, S-H B BTG BRI B 7

(a) fereror (b) WEH HTT OIREEE (d) @g FHT
27. Hdd e A& (SDG) % FA=Tid, & TE&I1-6 fhash T H & 7

(a) T FHMAT (b) Treqn <6t Tporern

(c) IToDT W 3R GIETed! (d) 9T U 3R T=sar
28. gufl faherdl (TR¥HA Hickr)’ fha arafa g ?

(a) ¥HH (b) YFEH (c) THH (d) st

29. STeTaTy UNETH W TS T ASET (NLALP.C.C.) e T Y 775 7
(a) 153F,2007 (b) 199, 2010  (c) 303, 2008 (d) 14 JeE, 2005
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30. Two stage warning system is provided for which of the following disaster ?
(a) Flood (b) Cyclone (c) Drought (d) Landslides

31. Match the following :

1. GRIHA P. Saudi Arabia
ii. BREEAM Q. UK
iii.  Green Star R. India
iv.  SAGRS S. Australia
Codes :
i i i v
@ Q R S P
b P Q R S
(¢ P R Q S
d R Q S P
32. Malpa landslide disaster took placein  district of Uttarakhand.
(a) Haridwar (b) Pithoragarh (c) Champawat (d) Bageshwar

33.  Which of the following is the purpose of a Green Building ?
(a) To reduce use of water and electricity (b) To minimize damage of the environment

(¢) To increase the human comfort (d) All of these

34. The Planning Commission was replaced by NITI Aayog in .
(a) 2014 (b) 2015 (c) 2016 (d) 2017

35.  Which factor is considered for the height of zoning ?
(a) Cubical contents of the building
(b) Width of streets and other marginal open spaces of buildings
(c) Options (a) and (b)
(d) None of these

36. What is the purpose of a green belt ?
(a) Prevents the haphazard sprawl of the town restricting its size
(b) To encourage high-density development
(¢) To promote industrial zones
(d) Provide recreational spaces for residents

37. Asper URPDFI guidelines, the Developed Area Average Density for medium towns in hilly
areas range from
(a) 100—150 pph (b) 45-75pph (c) 50— 80 pph (d) 60—90 pph

Series-A 8 APE




30.

31.

32.

33.

34.

35.

36.

37.

freferfiga 3 9 fora 3maer & fore < =i <rarat yorreft Tem H S 8 ¢

(a) ¥T¢ (b) =shelTd (c) qu (d) EEeH
Frferfiaa =1 fiesu
i. SmImuE, P. T34l 3WE
ii. ff.m3I T, Q. I
iii.  IH &R R. 9rd
iv.  TE.OS I S, Ftegferan
ER:
i ii fii  iv
@ Q R S P
® P Q R S
@ P R Q S
@@ R Q S P
HTETHT T 39T, ITUEE g |
(a) BNER (b) TueinrTe (c) <uTad (d) STIeR
frefefga 0 8 sid e FI 3@ P a1 R ?

(a) T T foregd ST SURINT T AT (b) TATEROT 6t &1fd T HH BT

(c) HIE G@-Fierer sl Sgr (d) T8 T
ST TR <kl it T g T gfqeefud feram mm |
(a) 2014 (b) 2015 (c) 2016 (d) 2017

ST <R IS ok foTu fopm shes W o feram ST @ 2
(a) SHATA ! TThR TTHH

(b) HHI I TSTE T SHRAT o 37 T Yol ToH
(c) fershed (a) 3T (b)

(d) 378 T HE TE

g Ug (Green belt) o1 3T T ?

(a) & P Satdiel Setre ol UshAT 3TV 3Hb 3ThR oI Hiftrd [T
(b) 3= Tcd T o TIcHTEd ST

(c) 3TNTTR AT I TSI T

(d) TR & fote a9eTs T YeM e

3, 37R.E1L.H.U%. 37, (U.R.D.P.F.1.) feenfacer = 1qam ugreh & ° qeam wrgdi & foru foeh
& T 3T T FAT R 7

(a) 100-150 =aferd afd & (b) 45-75 Safedd Ifd X

(c) 50-80 safer Tfe FeFex (d) 60-90 safer Tfe FeFex

=
fa

APE
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38.

39.

40.

41.

42.

43.

44.

The plans which are prepared to detail the sub-city land use plan and integration with urban
— infrastructure, mobility and services are known as

(a) Perspective plans (b) Regional plans
(c¢) Local area plans (d) Development plans

The examination of the form, appearance and composition of a city for urban design is
known as

(a) O—D survey (b) Topographic survey
(c) Visual survey (d) Composition survey

Match between land use and colour code :

Land Use Colour Code
A. Residential i.  Purple
B.  Industrial ii. Green
C.  Recreational iii. Grey

D. Transportation iv. Yellow

Codes :
A B C D

(@ () (@) (@) (i)
(b) (@v) (1) (@) (@)
() (v) (1) (1) (i)
(d @Gv) (@@ (@) (i)
Constitution of Municipalities is mentioned in _ of Indian Constitution.
(a) Article243 Q (b) Article 243 R (c) Article 243 S (d) Article 243 U

The National Building Code defines hilly areas as “Any area above  m in height from
sea level”.

(a) 500 (b) 600 (c) 750 (d) 900

The Special Economic Zone rules, came into effect on

(a) 10™ February 2006 (b) 10™ January 2006

(c) 15" January 2006 (d) 26™ January 2006

Stepped terrace development and stepped storied buildings are recommended for buildings
in hilly areas by URDPFI, 2014 because

(a) it provides easy access. (b) it results in least hill cutting.
(c) it looks beautiful. (d) it is easy for construction.
may be defined as a general plan for the future layout of the city.

(a) Master Plan  (b) Lay-out Plan (¢) Key Plan (d) All of these

Series-A 10 APE



38.

39.

40.

41.

42.

43.

44.

45.

I9-ITE YfH ITART ASHT TR & STLEEHAT, Tasfierar 3R Ha13Ti o |1 Tehiehtvl o forea
T o TTT GIR 1 ST a7} ASHT3T Bl =1 HET a1 8 ?
(a) TEUfFE &I (b) TsHel &Iy (c) el TR ™I (d) SIeTIHS WAt

37ei fesirga & foru foret 318t s ®9, 3TeRR 3R GT=HT % TH8T07 ohl 1 el ST g 7
(a) M- Td (b) AR T OREESEEE] (d) HIEITTEE T

fff 3T 3R TT IS o s HAH i -
i ST TIHE
A FAEEE i. ST
B. sienfies ii. B
C. TANSH iii. T
D. ufeg iv. dfem
%<

A B C D
(@ @O @ (@>i) (@iv)
(b) Gv) () (i) ()
() (v) () (@) (i)
(d Gv) @ @) (i)

“TIRUTATS o TS’ T Ieohd TfIEH & 3T Hfpr T 7 |

(a) 243 Q (b) 243 R (c) 243 S (d) 243U

JeHa fafeen @ie, Tgel &l @ “ggg aa ° e ¥ 31feh 918 91 s o 857
&9 H giewTitd o 2 |

(a) 500 (b) 600 (c) 750 (d) 900

ferory amffes & frem T AN B3 |

(a) 10 %, 2006 (b) 10 SHa{, 2006 (c) 15 SHal, 2006 (d) 26 SHaEd, 2006

3 3T E.H.TF. 37752014 G TETE! & H ESITHT HisTeht SHRA! U g1 D1 o foehrd sl
Tererfeer 6 et 2, ifen

(a) g M UgE JGH T 8 | (b) 39Y H T HY YRS e Bl B |
(c) IEHR AR | (d) =g fwior < fore e 2 |
o1 Toreft 31T o WfersT o ©1- 31132 o foTu T 1=t ST o &9 § Ry fepn
ST HhaT ¢ |
(a) TTRLAH (b) TRfeafd FemT (- 31132 wIM)
(c) H&F IS (hI-TTH) (d) I e

APE
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46. SWOT Analysis means
(a) Scope, Wisdom, Open, Trend (b) Strengths, Weaknesses, Opportunities, Threats
(c) Strengths, Wisdom, Opportunities, Trick (d) Simple, Weakness, Open, Trend

47. Minimum built-up area requirement for category ‘B’ cities for SEZ development
(a) 10,000 sq. mt. (b) 15,000 sq. m. (c) 20,000 sq. m. (d) 25,000 sq. m.

48. The strategic spots in a city into which an observer can enter and which are the intensive
foci to and from which he is travelling is called

(a) Districts (b) Nodes (c) Landmarks (d) Paths

49. What is primary purpose of GIS in urban planning ?
(a) Conducting ground surveys (b) Collecting weather data
(c) Analysing spatial relationships (d) Aiding in satellite launches

50. The surveys that are conducted to assess the potentialities of a state for economic, more
specifically the industrial development in the context of technology :

(a) Diagnostic survey (b) Techno-economic survey
(c) Regional survey (d) Industrial survey

51. The National Geospatial Policy was enacted in which year ?
(a) 2016 (b) 2018 (c) 2020 (d) 2022

52. Which delineation technique helps to determine a homogeneous region within certain
variations / deviation limits ?

(a) Flow Analysis (b) Weighted Index Number Method
(c) Gravitational Analysis (d) Overlay Analysis
53. Which of the satellite is known for its high spatial resolution and is commonly used for urban
mapping ?
(a) Landsat (b) SPOT (c) MODIS (d) RADARSAT

54. What type of data is often collected using LiDAR technology in urban planning
applications ?

(a) Temperature Data (b) Spectral Data
(c) Elevation Data (d) Social Data

55. Which type of model is a graph consisting of arcs that represent linear flow and nodes, which
represent the interconnection between the arcs ?

(a) Digital Elevation Model (b) Network Models
(c) Object — Oriented Models (d) Relational Models

Series-A 12 APE




46. SWOT fergetyur =1 Haers 8
(a) TR, §fg, Gal, T (b) Vfeaal, HATET, T, ARaH
(c) e, gfg, 3oy, = (d) T, HESAT, GeAl, M
47. TEI.SE. (SEZ) foshm o foru oot &t wrawi o fotw =pam ffda &m 6t streveehar
(a) 10,000 TTHRT (b) 15,000 T HET () 20,000 TFHRT  (d) 25,000 T HieT
48. foreft wret # 9 1o (F2fTeh) TorH TR weh Widereh JoIeT ohY Hehd & TR S 9|l 3R &l °
IATHL @I 8 b (T Ted g & | 98 FHEAT 2 |
(a) TS (b) TrgH (c) TIAMIE (QUgHTh) (d) T
49. &l e 1 Sf.31s.wd. (G.1LS.) T eifien Sgev R 7
(a) STH TERI0T AT (b) TYEm HELft i Thia
(c) T Gaet 1 fageiyor (d) YU TV T TR
50. Toeur o feet T i amfdies, fomiw w9 @ yafeta Tenfieht & Tey I sfenfies fasm $i
GUTSHTAT T 3ATeheT hid & foIT 3T fohd IITd &
(a) Tem Taeur (srmmfees) (b) Teh-1ehl ITIeh TAeToT
(c) &g Taeqor (d) N Taeqor
51. TSGR -Tfaes Aifa form ad o o ot S oft ¢
(2) 2016 (b) 2018 (©) 2020 ) 2022
52. b it Fersr depftes o Ti=Tanai/ forerer wimnati o offat weh Tt &t o1 ferifid s 4 7eg
HLAE ?
(a) WaTE (FA) forgersom (b) WTRE T=ehieh Tty
(c) TEcaTehyuT fergeTsur (d) 3TeRet fergermor
53. I |1 U U I TATHh RATeqeH o foIq T ST 8 3R SR 9 I8l A= o
foru o= fema ST @ 2
(a) oisde (b) T (c) Hifsm (d) TSR
54. EQ FRESH 3SR § LiIDAR eh1eh b1 ST Shich TR foht ST <hT STeT UehAd fohal
g ?
(a) AUAH ST (b) TUIHH ST (c) F=TE Sl (d) TR STeT
55. e YR <1 Higet ST & Jod U g S IRaeh JaTg 37N Aigd 1 Ufdaffrea sear g qen s
IR o i 3T T T T hiaT & 7
(a) Tefteat wferam aiea (b) T AigaA
(c) IAfsore-3ARues A (d) TereHe uiga
o R . TG



56. Satellite images are :
(a) Raster graphics (b) Vector graphics (c) Both (a) & (b) (d) None of these

57. Which among the following data is the raster type of data ?

(a) Point (b) Line (c) Polygons (d) Image
58. Which of the following is not a component of Time Series Models ?

(a) Long term movement (b) Short term movement

(c) Random Fluctuations (d) Seasonal variations

59. Which of the following category of drones does not require registration for use in India ?

(a) Micro (b) Small (c) Nano (d) Large
60. What does the term ‘Metadata’ refer to in GIS and remote sensing ?

(a) Information about Data (b) Social Data

(c) Elevation Data (d) Data in graphic format

61. In which field, IRS products are widely used for tasks such as urban sprawl mapping and
infrastructure planning ?

(a) Aerospace Engineering (b) Environmental Science
(¢) Urban and Regional Planning (d) Information Technology

62. Most widely used method of measuring seasonal variation is
(a) Ratio to moving average method
(b) Ratio to trend method
(¢) Link relative method
(d) None of these

63. Which technology is commonly employed for citizen engagement in planning process ?

(a) Virtual reality (b) Augmented reality
(c) Social-media platforms (d) 3-D printing
64. As per NITI Aayog 2019, how much of India’s urban population had access to basic water
supply ?
(a) 83% (b) 73% (c) 93% (d) 63%

65. What should be per capita water supply of domestic use for large cities having population
of 10 lakh or more ?

(a) 135LPCD  (b) 140 LPCD (c) 145LPCD (d) 150 LPCD

66. For provision of infrastructure in order to efficient planning of cities, what population
percentage is recommended in URDPFI-2014 as cushion ?

(a) 20% (b) 25% (c) 30% (d) 35%
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56. declTge AN E —
(2) T@IYS (TR Tithery (b) e TR
(c) (2) T (b)QHI (d) 3H 8 Ig TE
57. TfRgd § 9 =9 91 S TR TR HI SRR ?
(a) forg (b) @ (c) =gyt (d) ®fa
58. THIREd § § I &1 90T S[@cl Hisd 1 T ol @ ¢
(a) Sreepiferss mfcfafy (b) ITeuehTRT TR
(c) Igfose IaR-TgE () (d) TEHt seeE
59. Trferfaa @ @ fopm Soft & M b1 WA T U & fofw Isfiehtor i SATEvgshar T8l & 7
(a) Gem (b) BT (c) Hfe gem (d) =1
60. S.37E.uq. 37 foie afm d ‘Bereer wse w1 G w1 7
(a) 1 SN H JHBI (b) ETHITNE 22T
(c) =S < (d) TR ST & 2T
61. gl foredr mrafemor 3R gRTdt g 6t ST S T o foTu 311, 37R. T, IATEH 1 ATIh
w9 9 form &7 0 39am feRa ST @ 2
(a) T TSt (b) wATeR fogm
(c) W&l 3 aEfiT Ao (d) F=AT SrEnfieht
62. HEHT F=Tar sh1 7Y <hl T STk &9 T ST <h I a1 fafer 2
(a) ToT TaRS & 79T fafe (b) YERT (Trend) & 319TA faify
(c) foreh Tmuer forfer (d) T8 T HE Tl
63. ST UfshAT H ANTRER WK o fTU SAMHAR 0 9 Hi derieh o1 Iuam foran a7
(a) JTHTE ATEferehal (b) Gafia sreaferar
(c) T Hifegan wiewd (d) 32t fiifem
64. fd ST 2019 % AR WA 1 Tohat &t STTaTel o TT8 e} Siet Sfd uget ?
(a) 83% (b) 73% ©) 93% d) 63%
65. 10 TG T T 3Tfeh STETCT Mol 9 I b foIw TRe] U 2 Wfd =aferd a1 (el s gt
=Ry 7
(a) 135 wa. 1.4l (b) 140 T 41,41 €L
(c) 145 T i 418l (d) 150 Terdt 418,
66. TEX i HIE AT < fow gimdl g & Srae™ o fofw 3, 3m.2Ld 0. 3116, -2014 | foha
T SEE e i famiE I T R 2
(a) 20% (b) 25% ©) 30% d) 35%
o R - e TTTTor



67. Which of the following parameters determines the number of hospital beds required for a
settlement ?

(a) Annual rate of admission (b) Average length of stay
(c) Bed occupancy (d) All of these

68. What is recommended and adopted per capita per day electricity demand as per National
Electricity Policy 2005 for urban areas ?

(a) 2.54 kWh (b) 2.64 kWh (c) 2.74 kWh (d) 2.84 kWh

69. What are the area requirement norms for Integrated School (Class I - XII) without hostel
facility mentioned in URDPFI — 2014 ?

(a) 3.90 Hectares (b) 3.40 Hectares (c) 3.50 Hectares (d) 3.70 Hectares

70. How much population is served by an old age homes as per norms for socio-cultural facilities
in URDPFI —2014 ?

(a) 10 lakhs (b) 5 lakhs (c) 2lakhs (d) None of these

71.  What is acceptable pH of drinking water in India as per BIS ?
(a) 6.0t08.5 (b) 6.5t08.5 (¢) 70t09.0 (d) 6.5t09.0

72. Sewer, which obtain its discharge directly from building is called
(a) Lateral Sewer (b) Trunk Sewer (c) Outfall Sewer (d) Relief Sewer

73. As per norms for organized green for hilly areas, what is right combination of population
served per unit and area requirement for neighbourhood park ?

(a) 5,000, 0.50 to 1.0 Hectare (b) 5,000, 1.20 to 2.0 Hectare
(c) 10,000, 0.50 to 1.0 Hectare (d) 10,000, 1.20 to 2.0 Hectare

74. What is estimated waste generation per capita per day for estimation and forecast of waste
generation for planning purposes for commercial land use ?

(a) 0.3t00.6kg (b) 0.1t00.2kg (¢) 0.05t00.2kg (d) 0.051t00.25 kg

75. This trap has water seal of about 100 mm and it is provided in the last manhole of house

drainage ?
(a) Intercepting trap (b) Gully trap
(c) Nahni trap (d) P—trap
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67. frm=fafigd @9 =F 91 AUee S1Eadre & ol <t Stawaend sl @ o1 e o 4 ggrrdn
HLATR ?
(a) oIS 31 MY & (b) 3&W ! 3iga rafy
(c) TereaT srfeneqm (d) ¥z &+t
68. ITEd &t A w3 qaiga % fore Ugie farega fa-2005 % srgam e safer wfe fem foperh ferreft
<1 o Y fwie st TR s wgT T g 2
(a) 2.54 forett aife TeT (b) 2.64 forett aife T
(c) 2.74 ferett aife T (d) 2.84 forett afe e
69. I ITRE.M.UH.3E.-2014 & AR T S Flagn A Thhd o (-1 8 XII) &
foTu 3TTeves &5 1 AHeS & —
(a) 3.90 BRI (b) 3.40 TRI (¢) 3.50 TFI (d) 3.70 TR
70. ¥ ITREH.UR.3E.-2014 H, HHITR-HEH{eh AT o AHCS]  FTTHR Teh FGIHH gH
forat STTaTe) 1 AT Y HI AT B ?
(a) 10 M@ (b) 5@ (c) 2@ (d) 379 T HIE T
71.  <f.37E.TE. (BIS) % HHR 9Rd § FH & gt 6t wieerd ff w=. (pH) 1 8 ?
(a) 6.0 8.5 (b) 657 8.5 (c) 7.089.0 (d) 6.599.0
72. ®rer, o o fafeen @ dig femmma o 2, 38 Fafafea d o ®nsad & 7
(a) I e (b) b G (c) IRBTHIAHR  (d) Tehiw diex
73. UEIE! &A1 % fote wifaa gftd o WHESH & STER Ui 3ohTS SHE®T 3T IS & UTeh o foTw &
1 LT T & TS FA1 8 ?
(a) 5000, 0.50 | 1.0 BFR (b) 5000, 1.20 | 2.0 TR
(c) 10000, 0.50 & 1.0 BFR (d) 10000, 1.20 & 2.0 gFR
74.  aTioTSTes i IURIAT Y ASHT S & ToTe srafire Ieared & STEH 3T gatgEe & fore ufd
fea fafed AT 3Tafirse Idame F=1 g ?
(@) 0.3F0.6FFT.(b) 0.1T0.2TFT1. (¢c) 0.05T0.2 kI (d) 0.05%0.25 f.m.
75.  3E ST T T 100 Ti.H. 6 Tor-iet it & 3T 30 B ST (et o AT Agied | ohman
EICIE
(a) SEWRETLT  (b) TTell gu (c) &gy (d) drgu
o R - Ty



76. As per URDPFI — 2014, the area required for “Primary School” to serve population of

5000 ?

(a) 0.08 Ha (b) 0.40 Ha (c) 0.60 Ha (d) 0.80 Ha
77. Which treatment is used to remove ‘turbidity’ in water ?

(a) Reverse osmosis (b) Chlorination

(c) Coagulation (d) Aeration

78. As per URDPFI guidelines 2014, in hilly areas for group housing with 5000 sq. m of plot
size recommended FAR and maximum height of building is respectively.

(@) 50and 15m  (b) 50 and 20 m (¢) 50 and 26 m (d) 50 and 12 m

79. Which of the following sight distance is ignored in case of road planning on hills in India ?
(a) Intermediate sight distance (b) Overtaking sight distance
(c) Stopping sight distance (d) None of these

80. Which stage is ‘the method of travel used for the trip’ in transport model ?
(a) Model split (b) Trip generation  (c) Trip distribution (d) Trip assignment

81. Illumination of must be provided in underground parking.
(a) 50-751ux (b) 30—45Ilux (¢) 10-251ux (d) None of these
82. What are recommended equivalent car space and passenger car units for two wheeler in
India ?
(a) 0.20,0.60 (b) 0.30,0.40 (c) 0.25,0.50 (d) 0.20, 1.00
83. The National Highway Development Program (NHDP) was launched in which year ?
(a) 1992 (b) 2000 (c) 2005 (d) 2016
84. Tick the correct one from below options for urban roads :
(a) Design speed = Posted speed (b) Design speed > Posted speed
(c) Design speed < Posted speed (d) None of these is correct

85. Asper IRC Code 106 — 1990, Design Service Volume Standard for 2 Lane (one way), sub-
arterial road is :

(a) 1400 (b) 1500 (c) 1900 (d) 2400

86. Enoscope is used to find
(a) Average Speed (b) Spot Speed (c¢) Space Mean Speed(d) Time Mean Speed

87. What is required width of footpath in commercial / mixed land use areas as per
IRC-103-2012 ?

(a) 2.1 M (b) 2.7M (c) 24M d) 2.5M
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76. I IELH.UE.3E.-2014 % AR, 5,000 h TaTE! 6 foTu werfies whet’ o fofe stevere
& fepa 8 7
(a) 0.08 FRI  (b) 0.40 TRI (c) 0.60 TFH (d) 0.80 TR
77. O H TG (XfTSE) i QU o fore fopg fafer (S=iR) w1 Suaiit fepan Stran @ ¢
(a) Tag smmfEm (b) FATETH (c) HIUIIH (d) TIRIA
78. 9 IELN .. 3. Tauieer 2014 o AW, TETS! &R H 5,000 =7 Hiet o wetie i gu grRfm
T Th. T3 (FAR) TUT 9o <h1 JTRIehan g shAsT: 8
(a) 50dAT 15HIeT (b) 50dAT20HEX  (c) 50U 26HEEX  (d) 50 aqT 12 HiX
79. WA H RISl § Tgeh TRASHT % el H %I €1 g2 gl o1 oi3tars L fean Smar g ¢
(a) A gl (b) SMeRFA g (o) Ivgwgd (d) T8 T HiE T
80. Uiged Ofed T “9m & foru 3w it S =t 9w fafe” s ar=Ror g @
(a) Ofed faumsH  (b) I SFEH OIRIERER (d) T THTSTHE
81. ftrra wifeh & ) T Te <k S =i |
(a) 50-75 9  (b) 30-45 T (c) 10-25 & (d) 378 T IS T
82. WRd A grafgan aredi % fore fepart sfracic R W 37 A8 SR Ifie & SR i fawifa
HER ?
(a) 0.20, 0.60 (b) 0.30, 0.40 (¢) 0.25,0.50 (d) 0.20, 1.00
83. USRI U foshel SRishY (NHDP) fohe o 8 3& feram mam g 7
(a) 1992 (b) 2000 (c) 2005 (d) 2016
84. &l Heehi & foru A fed 3 forepeat d @ Tt W e o
(a) Teomea ofts = diee wite (b) feamea ofte > e wiig
(c) fesimga wfie < uiwe wfie (d) FHIA DR Nad = g |
85. SISITRE I 106-1990 % ITAR, 2 T (ThHaThT) IU-HT{T Heeh o foru fesrea afda aiem
e fehaT 8 7
(a) 1400 (b) 1500 (c) 1900 (d) 2400
86. AT =h! ferten! STH o fotu g fema ST @ 2
(a) 37T T (b) Tt T (c) JaRgmeania  (d) 9T =y Mfa
87. 3SR, 103-2012 3 FTHR Frivrtsess /ffda ity Su=wm &a § G i sreitad et
CRI i
(a) 2.1.M (b) 2.7M (c) 24 M d) 2.5M
o R - S EE



88. The usual thickness of parapet walls along highways in hilly region is
(@) 75cm (b) 70 cm (¢) 50cm (d) 60cm

89. Find green time for pedestrian for road with 12 m, pedestrian speed 1.2 m/s and initial walk
time is 5 seconds.

(a) 10 sec. (b) 12 sec. (c) 15 sec. (d) 20 sec.

90. What is recommended model split by public transport modes for city of size 3 million as per
URDPFI - 2014 ?

(a) 35% (b) 45% (c) 50% (d) 55%

91. Till 31.03.2019, which State of India had the maximum length of National Highways ?
(a) Rajasthan (b) Uttar Pradesh (c) Maharashtra (d) Andhra Pradesh

92. The classification system for rural roads in India is based on which plan ?

(a) Delhi plan (b) Bengaluruplan (c) Bombay plan (d) Nagpur plan

93. Gradient of ramp provided in multi-level car parking is usually
(a) 1:20 (b) 1:10 (c) 1:12 (d) 1:15

94. According to AMRUT 2.0, for ensuring community participation mission will co-opt
for concurrent feedbacks about its progress.

(a) Women (b) Youth (c) Women and Youth(d) UNICEF

95. Who’s resolution of 1882 is considered as ‘Magna Carta’ of local self-government in
India ?
(a) Lord Ripon (b) Lord Lytton (¢) Lord Canning (d) Lord Dalhousie

96. AMRUT 2.0 was launched by Hon’ble Prime Minister on
(a) 01 October 2021 (b) 02 October 2021
(c) 15 August 2021 (d) 26 January 2021

97. Periodic monitoring of the projects sanctioned under HRIDAY is done by
(a) Ministry of Finance (b) Ministry of Housing and Urban affairs
(c) Ministry of Water resources (d) Ministry of Urban Development

98. Which Constitutional Amendment Act empowered State Governments to constitute district
planning committee ?

(a) 71 (b) 72nd (C) 73d (d) 74th

99. Among the cities listed below, which city is not covered under HRIDAY Scheme ?
(a) Mathura (b) Gaya (c) Varanasi (d) Haridwar

Series-A 20 APE




88. UGSl &1 U USHF oh forR Yurde Sl <hl 9= <iers fohat gidt 8 7
(a) 7591, (b) 70 T.H. (c) 50 9.1, (d) 60 3.4
89. g hHI ASE 12 Hict, Yget T dret <hl Tf 1.2 X /Thvg 3TN JEATA Tt <l THT 5 TS |
Yot Tt a1l o foTu gia Tu 1a L |
(a) 10 TS (b) 12 THTS (c) 15 THTS (d) 20 THTS
90. .3, UF.31E.-2014 = ER 3 Tl & wet & 31epR & fotw wrdwifes ufass aremi
g Hise fovre 1 o e Hi g 8 7
(a) 35% (b) 45% (c) 50% d) 55%
91. 31-03-2019 Teh YR o TohH T T TSET TSHTT <hl iaTg 3Tferehan off ?
(a) T (b) I I (c) TENISE (d) 379 T
92. WA H U0 Tgehi bl Sfienor JuTTell fohd ot WX 3 & 2
(a) feoefi ST (b) STETE AT (c) TS AT (d) STRTY ST
93. WE-TRIT HR IHT H FeH fohd T a1t 10 o1 AT (A1) SATHAR R R grar 8 7
(a) 1:20 (b) 1:10 (c) 1:12 d) 1:15
94, 3TA-2.0 h ITER, HHLIRI WHGH! HTEd e o o7 faem 7ot wwfd 6 aR & Fwadt
Figseh & fog T TI AT |
(a) AfgeTTaA (b) garai
(c) Tfgema 3R Fara (d) I (UNICEF)
95. WA H TIHIT WA 1 ‘D1 hrel’ fohdeh 1882 o Hehed ol HHT AT 8 ?
(a) WS o (b) oiE forea (c) WATS him (d) TS SRS
96. WA YU g1 AMRUT-2.0 31 IR e fohall 7T ?
(a) 01 3R, 2021(b) 02 3RS, 2021  (c) 1530, 2021 (d) 26 S, 2021
97. %eH (HRIDAY) 3 d8d Slhd TNATSHIS oh! THI-F8 W fehereh g1 T shl STt 3 2
ORESEEISE! (b) TET 3R &L AHAT T AT
(c) T HETEH AT (d) &t T wore™
98. hiH U TS Gened Tty 3 TsF TRl il e T afufa w1 789 o w1 1R
feam 2
(a) 714t (b) 728t (c) 73af (d) 74at
99. 379 ¥ fore TR T & (HRIDAY) ASHT o & T2l T TR 7
(a) AU (b) T (c) AU (d) BNGR
o R - T



100.

101.

102.

103.

104.

105.

106.

107.

108.

109.

110.

111.

Executive head of a Municipal Corporation is
(a) Municipal Commissioner (b) M.L.A.
(c) District Magistrate (d) M.P.

Which of the following cell is not under Uttarakhand State Planning Commission ?
(a) GIS Cell (b) Himalayan Cell
(c) State Finance Commission (d) Palayan Cell

Which among the following is not the smart solution under smart city mission ?
(a) Waste Management (b) Water Management
(c¢) Urban mobility (d) Heritage Conservation

The vision for SBM-U 2.0 is to achieve “Garbage Free” status for all cities by which
year ?

(a) 2023 (b) 2024 (c) 2025 (d) 2026
Which city of Uttarakhand is a part of smart city mission ?

(a) Haridwar (b) Rishikesh (c) Dehradun (d) Nainital
How many Municipal Corporations are there in Uttarakhand ?

(a) 8 (b) 9 (c) 10 (d) 12

Aim of AMRUT 2.0 is

(a) Blue-green infrastructure (b) Green city

(c) Making the cities water secure (d) Sustainable transport

Make cities and human settlements inclusive, safe, resilient and sustainable deals with
(a) SDG9 (b) SDG 10 (c) SDG 11 (d) SDG 16

How much share of the total project fund will be given by centre for project under AMRUT
2.0 with ULBs with population one lakh to ten lakh ?

() 1/2 (b) 1/3 (c) 1/4 ) 1/6

As per Uttarakhand building Bye-laws the maximum height of building prescribed in the
hilly region is .
(a) 90m (b) 12.0m (c) 15.0m (d) 21.0m

What is minimum percentage of EWS housing units mandatory for developing group
housing projects in Uttarakhand building Byelaws 2016 ?

(a) 10% (b) 15% (c) 20% (d) 25%

As per Uttarakhand building Bye-laws, minimum plot size for EWS is in the range of
sq. m.

(a) 6075 (b) 45— 60 (c) 3045 (d) 25-30
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100.

101.

102.

103.

104.

105.

106.

107.

108.

109.

110.

111.

TR - % R IHE % B § ?
(a) TR e (b) faures (c) TS arfereprd (d) Tl

Frfefaa o 8 &9 9139 (cell) ITUGS T o1 3T & AfH TE & 7
(a) S1.3TE.WH. B (b) TerTer== o (c) TSI fad 3mm  (d) 9ot o

ffcTRaa o & S |1 e - e faem o qgd S amem e g 7

(a) A IS (b) A YaEH (c) e nfasfierar  (d) forraa Tret
TH. . TH. -9 2.0 T A& ohg a9 qeh Tt w8l o foTu “eharg gea” 1 ferfa s w8 0
(a) 2023 (b) 2024 (c) 2025 (d) 2026

SAUGE T I |1 T W1 ot firem 3 agq aman g

(a) ERGR (b) fteRer (c) <ETgd (d) rare
IEE H foha TR-frm 2 2

(a) 8 (b) 9 (¢) 10 (d) 12

319d 2.0 (AMRUT 2.0) 1 &3 &1 & 7

(a) ST SR T (b) Ba I

(c) FT&T I Sfef Gefare s (d) FoSr e

STEU 3R A Sfeai sl FHTes, guferd, a=ien 3R e s, 394 @ fhe SDG & d&q.
TS ?
(a) SDG 9 (b) SDG 10 (¢) SDG 11 ) SDG 16

Tsh AT H G AT oh STETET ATet I, TA. S 3 3HA-2.0 (AMRUT-2.0) o T&d TRASHIS
T g, g St it Torfer ot femern fere fem stmamm 7

1 1 1 1
(a) E (b) g (c) Z (d g
IATEE T =M1 o STTER TETE! AT H Va1 ol Ty Hars feifa @
(a) 9.0 . (b) 12.0 1. (c) 15.0 4. (d) 21.0 4.

ITGUE W JUFIHI-2016 H T STETE TRASHIS i fashfia o @ forg s1fam fre s
T (3.3, UH. ) ST IH1SAT T =[TdH Tfaerd w1 g ?

(a) 10% (b) 15% (c) 20% (d) 25%

ITTEUE Wad UMMl 6 IAR = 3 o1 (3.3, UH.) & folu @e &1 =Han &wd
T 7 |

(a) 60-75 (b) 45-60 (c) 30-45 (d) 25-30
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112. What is prescribed scale for site plan drawing for plots upto 500 sq. m. (as per model
building Byelaws 2016) ?

(a) 1:100 (b) 1:200 (c) 1:250 (d) 1:500

113. As per Model Building Bye-laws the provision of Helipad on the terrace is mandatory for
all buildings of height and above.
(a) 40m (b) 200 m (c) 60m (d) 100 m

114. In urban area of Uttarakhand construction and demolition waste will be removed by
application through
(a) SMS (b) e-mail (c) Telephone call  (d) e-services

115. Area requirement for computing stilt parking for 1 ECS is equal to
(a) 20sq. m. (b) 23sq. m (c) 28sq. m (d) 32sq. m

116. What is minimum Access way norms for hill area in Uttarakhand for New Cinema Hall ?
(upto the capacity of 300)

(a) 6m (b) 9m (c) I2m (d 15m

117. ‘Coastal Regulation Zone’ Act was notified in which year ?
(a) 2006 (b) 2009 (c) 2011 (d) 2014

118. What is minimum plot area for multi-storeyed parking in hilly areas (as prescribed in Model
Building Byelaws 2016) ?

(a) 1000sq. m (b) 2000 sq. m (c) 3000 sg. m (d) 4000 sq. m

119. What is the minimum land area required for Agro Sector SEZs ?
(a) 8 Hect. (b) 10 Hect. (c) 12 Hect. (d) 20 Hect.

120. What is the colour of plot ‘lines’ prescribed in Model Building Bye-laws 2016 in colouring
notions for plans ?

(a) Red (b) Green (c) Yellow (d) Thick black

121. What should be minimum clear height in walking zone of the footpath ? (as per IRC)

(a) 2.1 m (b) 2.2 m (c) 24 m (d) 3.0m
122. Recognition and Protection of local government is given in Constitutional
Amendment.

(a) 62"and 63 (b) 64" and 65 (c) 69" and 70" (d) 73" and 74"

123. Code of Professional Conduct of Town Planner is governed by
(a) MOHUA (b) COA (c) TCPO (d) ITPI
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112.

113.

114.

115.

116.

117.

118.

119.

120.

121.

122.

123.

Higdt fafeen SReis] 2016 3 ITAR 500 FTHI Teh o @S 6 foTT A5 Wi g1 st faffa
AT FTE ?

(@) 1:100 (b) 1:200 (©) 1:250 () 1:500

Aieat fafedn 918 @ o FTER 3 AR Waq i R geftig gH1 afen feht Sars g
Fifers B |

(a) 40 . (b) 200 . (c) 60 . (d) 100 .

IAUES & &t getmeni § Fmior va foeaw sher o foare &g fope Yopm STIaga G BT 8 7
(a) TE.GA.TH. GRT (b) $-HA gHI (c) T®M g (d) $-¥egR

1 3.5 .. (BCS) = foru feeee wifdh =g 3mmervaeh & fohereh sreR 8 72

(a) 20 At (b) 23 ai . (c) 28 =i, (d) 32,

IAEYE H TETet &1 § 3 e gfe o foTu =™ ug= um o1 UHeus I 7 7 (300 <hY &
dh)

(a) 6M (b) 9M () 12M d) 15M
e fafrr & arfufrm fora o siiegfaa ferm mm e ¢
(a) 2006 (b) 2009 (c) 2011 (d) 2014

Aigd Wad UMW 2016 % TR TEIE &1 H TgHRTCAT ITfhT o foTt =an &g e T g ?
(a) 1000=F . (b) 2000 = ., (¢) 3000 = T, (d) 4000 =T T,

HIY & TSNS (SEZs) % foTu Smmarwerh =aw ufy e = g 7

(a) 8 BFW (b) 10 FFRR (c) 12 TRT (d) 20 FRT

Higd HaH IUM=H 2016 T W 1 T IR § WAie A=Al & forw o a1 o7 fyaifa feram mn
27

(a) &TA (b) & (c) drar (d) TET BTl

BUTY b “FifehTT T H AT T HaTg feheH1 BHT TEY, 7 (378, 3TRHY. & 3HR)
(a) 2.1, (b) 224, (c) 2.44l. (d) 3.04.

T ST ! A= U TLET0T et e 1 fean T g |

(a) 6291 A 63aT (b) 64af 3 65aT  (c) 69T IR 70af  (d) 739 IR 744t

TR fasTes 6 foru smaETiies St=m afgdn forees gra snfa g 7
(a) TH.SN.TI.JT. (b) H.3T. (c) @ di.am (d) 318 &.d.31E.
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124.

125.

126.

127.

128.

129.

130.

The old city of Jaipur was planned as per which of the following layouts ?
(a) Sarvatobhadra (b) Prastara (c) Padmaka (d) Karmuka

In ancient Indian cities, the terms ‘Katak’ or ‘Kot in the names of cities (like Cuttack,
Mangalkot, Sealkot etc.) refers to :

(a) Market (b) Palace (c) Fort (d) Temple

For preparation of a regional plan, the planning regions could be classified under these
heads. These are :

(a) Administrative regions, Climatic regions & Economic regions
(b) Administrative regions, Investment regions & Special regions
(c) Investment regions, Market regions & Business regions

(d) River regions, Desert regions & Hilly regions

Match the columns — Town growth and its characteristics :

Town Growth Characteristics
P Concentric spread 1. Erratic growth
Q.  Satellite growth 2. Development in a single row
R.  Ribbon development 3. Development in the form of
concentric rings
S.  Scattered growth 4. Dependency on the parent city
Codes :
P Q R S
(a 1 2 3 4
by 3 4 1 2
(c) 3 2 4 1
d 3 4 2 1

The survey conducted at local level for re-development scheme, slum improvement scheme
and master plan is known as

(a) Socio-economic survey (b) Regional survey
(c) National survey (d) Physical survey

As per ancient Indian texts, the shape of a town in form of a ‘lotus’ is known as

(a) Kamalaka (b) Nandyavarta (c) Padmaka (d) Prastara
Which statement is/are correct with respect to Indus valley civilization ?

P - The layout of streets was of grid-iron pattern.

Q - Houses were one storey high only.

R - The residences had direct entrance from the main streets.

S - Windows were provided towards the subsidiary walkways.

(a) P&S (b) Q&R (c) Only P (d) P,Q,R&S
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124.

125.

126.

127.

128.

129.

130.

QU SRR W& b a1 freforRad & 9 forer o1-311se o 3190 418 71g oft 2

(a) HAATHGT (b) TER (c) T (d) HTHH

T WA ST&U H, &0 & 910 § ‘hesh’ I1 DI’ I6E (S hesh, WTeTehie, fametepie 3mfe)
1 3% 8

(a) TSR (b) W& (c) fepem (d) wfex

& AT IR S o TTC AT &7 o1 37 TH@ forgai o Siaia afiehd fohal ST Hehdll & |
I8 -

(a) STE &, ST & qeIT AT &4 (b) Jemafes &, frerr & aun fosiy &=

(c) T &a, aeR e dT=eaE & (d) 7! &, W™ & a2 vgiel &

e o1 Toreh 3T 34h! fomIarati = o= it ot

TTE 1 forep foramd
P.  Tehigd Sera I ERIERAC|
Q. #lamse fomH 2. U e H fae
R. e foshE 3. Hehfgd d1d o &9 A fasmrg
S. @y gan fae™ 4. e T P
%<

P Q R S
@ 1 2 3 4
by 3 4 1 2
(c) 3 2 4 1
d 3 4 2 1

qAfeehTE ATSHT, et St G ST TT TR WA b ToTT T &t o fohdl ST et Treieqor
EIETIISIGIES

(a) TR — 3Tk Teieaur (b) &= HaeToT
(c) USRI Heieqon (d) Hifoes Taiegon
T AR T2l 3 SR e b TR oh TR I ST ST &
(a) AR (b) TETed (c) T (d) TR

fie] T wvare o HeY U N AT HAT T E 7

P - H<Hi 6l GGl firg- 31 ed v et |

Q - ThH hddl Tsh AT Y |

R - STGTEl I YouT gR HeT T&7 9l ¥ 8iaT o |

S - UgE dih-d it AR Rasfrat ygm 61 73 off |

(a) P3MWS (b) QIR (c) Hae P (d) P,Q,R3RS
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131. The detailed information about Indian demography may be obtained from
(a) Census Atlas Maps, National Atlas and Thematic Mapping Organization (NATMO)
(b) Voter list
(¢) Ground survey
(d) Topo sheets

132. “Towns are the biological phenomenon such as head, heart, limbs, lungs and arteries” is said

by
(a) Le Corbusier (b) Sir Patrick Abercrombie
(c) Clarence Stein (d) Sir Patrick Geddes

133. Which of the following is not a criteria for defining urban unit in India for rural — urban
classification for census 2021 ?

(a) Population

(b) Statutory town

(c) Population density

(d) Overall working population engaged in non-agricultural pursuits

134. As per URDPFI Guidelines 2014, in hierarchy of social infrastructure development, a
neighbourhood park should have an area of about

(a) 5000 sq. m. (b) 4600 sq. m. (c) 1 Hectare (d) 1.5 Hectare

135. Physical proposal for various policies given in perspective plan are prepared under which
type of plan ?
(a) Regional plan (b) Master plan (¢) Annual plan (d) Development plan

136. Which of the following schemes was launched by Ministry of Urban Development aimed at
preserving and revitalizing the soul of unique character of the heritage cities of India ?

(a) PMGSY (b) AMRUT (c) HRIDAY (d) PMAY

137. What minimum population criteria is proposed to be adopted for the purpose of
Identification of urban agglomerations for 2021 census ?

(a) Total population > 20,000 (b) Total population > 50,000
(c) Total population > 1,00,000 (d) Total population > 5,00,000

138. Who is the approving authority of the perspective plan ?
(a) Central Government (b) State Government
(c) Regional Development Authority (d) Municipal Corporation

139. Panchayati Raj System is based on the vision of
(a) Mahatma Gandhi (b) Rabindranath Tagore
(c) Ram Mohan Roy (d) Lal Bahadur Shastri
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131.

132.

133.

134.

135.

136.

137.

138.

139.

A STE1TEeh! oh S H fored SHehR fore®l ST 3h1 511 |ehel & 7
(a) SFITYMT Ueord M, TS Uead a2 faraamd A== @me+ (NATMO)

(b) Hererer T

ORCEELL

(d) i

“STeX Sifereh ThATHAT 7, Wi R, 7e, 719-T, e 3R gf=l” 9g feheeh gRI a1 T & 7
(a) MHIERR  (b) W-Ufeeh TawhRIEh () Fold (d) T-ufees TeH

FrafaRea O @ =i @1 aFes, ST 2021 % forw arfior-sed arffestor & fo vyra 0wl
SIS o1 TR T o ToTw 781 & 2

(a) SHEEIT

(b) AT TR

(c) SHEET T

(d) 9ot R SEE S TR-HfY e # §fer ¢ |

3 RS T, 3T, TRSATSH 2014  STTHR FHINS TS €l o e < Tersh ¥,
Teh JSIES UTeh o1 &bl fehaHT BT =T8T 7

(a) 5000 .  (b) 4600 = . (c) 18RI (d) 1.5 TR
gy AT (YEufaee @) | < w8 fafir= fifemt o1 ifoes seae feg g ) I

AT IR a1 ST B 2

(a) &AFTASET (b)) WX JSHT (c) TSR AT COREEIERISE
Frafaaa @ @ = & FiomT w8l foem mre g wra & fardd wwt & sifgda sfa i
JATEHT < T 3T YASHTId i o 3e9d | € I 718 ot 7

(a) Hiewsfiegam (b) TTHIHRIE (319)

(c) TIHANIEEITIH () (d) Humuam™

IE T hl TEAH oh Ie2F H 2021 H SFUFT o TofT R =IaH SHEEIT AHGS ST
TE R 7

(a) PeT SHEET > 20,000 (b) Fe SHEEAT > 50,000
(c) Fe SHEEAT > 1,00,000 (d) Fe SHEEAT > 5,00,000
afie e (TEufded wi) 1 3TgHIeT TR & & ?

(a) 5 THR (b) T<T TR

(c) &t faepma st (d) ¥R Fre

YT} Tt et fohehl T ot 3T & 7
(a) TRIEETTER (b)) T &R (c) THHIEA T (d) Tt TG STH
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140. Planning of whole neighbourly area or super block, concept of Clarence Stein was first
incorporated in which city ?

(a) Welwyn (b) Radburn, New Jersey
(c¢) Letchworth (d) Greater London
141. The concept of the ‘Growth Pole Theory’ was developed by
(a) Galina V. Sdasyuk (b) Francois Perroux
(c) Auer bach (d) Zipf
142. The slogan of which five-year plan in India is “Faster, More Inclusive and Sustainable
Growth” ?
(a) Twelfth (12™) (b) Eleventh (11%)  (c) Tenth (10'™) (d) Ninth (9')

143. The building activity expands in a natural way along the sides of main road. This type of
development can be called as

(a) Ribbon development (b) Concentric spread
(c) Satellite growth (d) Scattered growth

144. The full form of NITT as in ‘NITI Aayog’ is
(a) National Institute for Transforming India
(b) National Institution for Transforming India

(c) National Institute for Transmitting India
(d) None of these

145. Which among the following is/are an example(s) of a Garden City ?
I.  Pittsburgh’s Chatham village
II. Buckingham in Arlington
III. Colonel Light Gardens in Adelaide
(a) OnlylI (b LI (c) LIL I (d) None of these

146. From the following list of options, what is a street with a dead end called ?
(a) Cul-de-sac (b) Collector street  (c¢) Local street (d) T Junction

147. The zone which is within the planning area limits but outside the urbanization limit of the
municipal corporation / authority or metropolitan planning committee or authority is called

(a) Peri—Urban (b) Urban — Sprawl (c) Suburbs (d) Conurbation
148. “Folk — Work — Place” triad concept was given by
(a) Le Corbusier (b) Jane Jacobs (c) Ebenezer Howard (d) Patrick Geddes
149. The city shows further decay in all the fields like trade, commerce, military, power etc. is
known as
(a) Eopolis (b) Necropolis (¢) Tyrannopolis (d) Megalopolis

150. In which year Jawaharlal Nehru National Urban Renewal Mission (JNNURM) was started ?
(a) 2000 (b) 2003 (c) 2005 (d) 2009
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140.

141.

142.

143.

144.

145.

146.

147.

148.

149.

150.

FNH W <l g Gyl fehead! &3 A1 GuX seteh hi A1, 1 Tl Tget fohd &t H i
foram T o ?

(a) dfced (b) TE&H, =Tt (c) wr=ad (d) T e
“forermar gt frgia (g T diet 2R’ St raemon fermes g forenféa <6t 8 off 7
(a) T <. Teg® (b) ThehIgH UTiad

(c) NTSH (d) oo

U T ford Teraiar T o1 AR 8 — “O, 3ATees gHash 3R et foeeE” ¢

(a) ST (12%)  (b) =E (1) (c) g (10") (d) =l (9™

wa fmior wfafafy, 7eT aee o fohTR wehfes il @ faaiid gt 2, 39 YR & foshm &t
EHEIGIE

(a) T fop@  (b) Tepfgd e (c) Teemge o (d) Teraw gam T
fifer s # s 51 i w9 R

(a) A9FE SEIIL B ZABIHT gfean (b) YA SICIIH B ZABIHT SFea

(c) el gy W gEmieT st (d) sTH A RE AR

Frafafga 0 @ <= a1/3 A fod w13 g/

1. Toogent =1 =nem e

1. sfhad 3 3rfeimes

II1. el T8 e 31 Ufeere

(a) e I (b) LI (c) LI I (d) 30 T BT Tl

frferRaa fespedt <1 geft & ueh sig TR (3ifom BR) areht Hes I R FRTACT S ?

(a) PA-S-TH  (b) HolFA T (c) e T (d) 3 SR

I8 & S AT & <kl HiAn o it B, wiferd R fm /anfRrestor an weTR S wfufa o
ITTIeRTUT o ITELIERT0T THHT o ST 8, 3H 1 gl ATl 8 ?

(a) W-3TET (b) TEh-feram (c) TR (d) 3T feream
“HATh-hE-TAM” T RN Teohereh gy & 718 off 2

(a) MNHEGRR  (b) I Shed (c) USSR EeS (d) Ufees TIem

I8 & S AR, F1ivrs™, T, wiferd 37ife weft &5 1 3 31ferss fireae i gwiian &, & shaatrn
87

(a) 33TIferd (b) Tshdiferd (c) TRREMIfTE (d) TTTeNIfeTd

STATEETe &% TSI Teftehtu e (I, 07,049, 3. . ) forg o 3% fepam mam o 7
(a) 2000 (b) 2003 (c) 2005 (d) 2009
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